

LECTURER'S NAME: DR. OTELAMI.

DATE SUBMITTED: 02/14/2020.

NAME OF STUDENT: ABE OLUWATOMISIN THADOLE.

DEPARTMENT: MECHANICAL ENGINEERING

MATRIC NO: 191EN19051001

Assignment

$$\lim_{x \rightarrow 0} \left[ \frac{(x - \cos x)}{x} \right] x \rightarrow 0.$$

$$\lim_{x \rightarrow 0} \left[ \frac{(x - \cos x)}{x} \right]$$

Applying L'Hopital Rule.

$$\lim_{x \rightarrow 0} \left[ \frac{(x - \cos x)}{x} \right] = \lim_{x \rightarrow 0} \left[ \frac{1 - (-\sin x)}{1} \right]$$

$$= \lim_{x \rightarrow 0} \left[ \frac{1 + \sin x}{1} \right]$$

$$\lim_{x \rightarrow 0} \left[ \frac{1 + \sin(0)}{1} \right]$$

$$\lim_{x \rightarrow 0} \left[ \frac{1 + 0}{1} \right]$$

$$= \frac{1}{1} = 1$$

2.  $y = 3 \tan 7x e^{3x}$ . find  $dy/dx$ .

$$u = 3 \quad v = \tan 7x \quad w = e^{3x}$$

$$\frac{du}{dx} = 0$$

$$\frac{dv}{dx} = 7 \sec^2 7x$$

$$\frac{dw}{dx} = 3e^{3x}$$

$$\frac{dy}{dx} = y \left[ \frac{1}{u} \frac{du}{dx} + \frac{1}{v} \frac{dv}{dx} + \frac{1}{w} \frac{dw}{dx} \right]$$
$$= y \left[ \frac{1}{3} [0] + \frac{1}{\tan 7x} [7 \sec^2 7x] + \frac{1}{e^{3x}} [3e^{3x}] \right]$$

$$= y \left[ 0 + \left[ \frac{7 \sec^2 7x}{\tan 7x} \right] + 3 \right]$$

$$= y \left[ 0 + \frac{7 \sec^2 7x}{\tan 7x} + 3 \right]$$

$$= -3 \tan 7x e^{3x} \left[ \frac{7 \sec^2 7x}{\tan 7x} \right] + 3$$

$$3. \cos 3x = y.$$

$$y + \Delta y = \cos 3(x + \Delta x)$$

$$y + \Delta y = \cos(3x + 3\Delta x)$$

$$\Delta y = \cos(3(x + \Delta x)) - \cos 3x \quad \dots \text{--- (i)}$$

$$\text{Recall: } \cos A - \cos B = -2 \sin \frac{A+B}{2} \sin \frac{A-B}{2} \quad \dots \text{--- (ii)}$$

Comparing equation (i) & (ii)

$$A = 3x + 3\Delta x \quad B = 3x$$

$$\frac{A+B}{2} = \frac{3x + 3\Delta x + 3x}{2} = \frac{6x + 3\Delta x}{2}$$

$$\frac{A-B}{2} = \frac{3x + 3\Delta x - 3x}{2} = \frac{3\Delta x}{2}$$

Also,

$$\frac{A-B}{2} = \frac{3x + 3\Delta x - 3x}{2} = \frac{3\Delta x}{2}$$

Hence,

$$\Delta y = -2 \sin(3x + 3\Delta x) \sin \left[ \frac{3\Delta x}{2} \right]$$

$$\frac{\Delta y}{\Delta x} = \frac{-2 \sin(3x + 3\Delta x) \sin \left[ \frac{3\Delta x}{2} \right]}{\Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{-2 \sin(3x + 3\Delta x) \sin \left[ \frac{3\Delta x}{2} \right] \times \frac{1}{2}}{\Delta x \times \frac{1}{2}}$$

$$\frac{\Delta y}{\Delta x} = \frac{-\sin(3x + 3\Delta x) \sin \left[ \frac{3\Delta x}{2} \right]}{\frac{\Delta x}{2}}$$

Taking limit as  $\Delta x \rightarrow 0$ .

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \sin(3x + 3\Delta x)$$

$$= -\sin 3x$$

$$= -\sin 3x$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \sin \left[ \frac{3\Delta x}{2} \right]$$

$$= \sin(0) = 1$$

$$\frac{dy}{dx} = -3 \sin 3x$$

$$4. f(x) = 2x^3 - 7x$$

$$g(x) = 3x$$

$$f-g(x)$$

$$f-g = 2x^3 - 7x - (3x)$$

$$= 2x^3 - 7x + 3x$$

$$= 2x^3 - 4x$$

$$f-g(x) = 2(x)^3 - 4(x)$$

$$= 2(5) - 20$$

$$= \underline{\underline{10}}$$

$$c. f(x) = 4x^2 + 2$$

$$g(x) = 2x + 3.$$

$$f \circ g(x) = 4(2x + 3)^2 + 2$$

$$= 4(2x + 3)(2x + 3) + 2$$

$$= 4(4x^2 + 6x + 6x + 9) + 2$$

$$= 4(4x^2 + 12x + 9) + 2$$

$$= 16x^2 + 48x + 36 + 2$$

$$= 16x^2 + 48x + 38.$$

$$6. x^2 + 2xy + y^2 = 1020.$$

$$\frac{d(x^2)}{dx} + 2 \left[ x \frac{dy}{dx} + y \frac{dx}{dx} \right] + \frac{d(y^2)}{dx} = \frac{d(1020)}{dx}$$

$$2x \frac{dx}{dx} + 2 \left[ x \frac{dy}{dx} + y \frac{dx}{dx} \right] + 2y \frac{dy}{dx} = 0.$$

$$2x + 2x \frac{dy}{dx} + 2y + 2y \frac{dy}{dx} = 0.$$

$$\frac{dy}{dx} [2x + 2y] + 2x + 2y = 0.$$

$$\frac{dy}{dx} = \frac{-[2x + 2y]}{2x + 2y} = -\frac{2[x + y]}{2[x + y]} = -1$$

$$\text{or } = -\frac{2x + 2y}{2x + 2y}$$

$$f(x) = x^2 \cos x$$

$$\frac{d}{dx} f(x) = f'(x)$$

$$= 2x \cos x - x^2 \sin x$$

$$\frac{d}{dx} f(x) = 2x \cos x - x^2 \sin x$$

$$\frac{d}{dx} f(x) = 2x \cos x - x^2 \sin x$$

$$= 2x \cos x - x^2 \sin x$$

$$= 2x \cos x - x^2 \sin x$$